EARAROBREBRT —5 XN—ZXBISH—F

2023510898 (B) smlllEB

UM T>%2% 6

\(9&1@1 = ‘[%EH%F&] | 5 100 w8

[AE%] 17 :2,000,000 § ~ 237 :800,000 . 37&:500,000H  435:300,000 . 53&:200,000 9

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o— o BAIRIE : -3-1- - LWis#tE (1iE)
1171 8| /%5 Mb—/¥— 2 B2 1.(3_5).1 3-3-1-1 | 43.2 2 (4;2) it
RIRVIIATFqwIDAUT— B:TSAVITNI—> #HBEIT7—L
A : -3-4- - FHE— (&
N BEESRT B2 5 1.(345).9 4-3-4-3 | 43.9 5 (453 i
RAVTAIW=ZFIO—L B:NALAT— FHBHS
— <, L SHEER : -2-1- - HEE— (&
) c DERa A= t 2| o I R ol e irRe
RE—ZV BEYaIVARAM LITVRT7—L4L
. © A 3 ~7-5- - LIEE (&)
4l8lg|UTrRUZR it 2 b0 1.(346;.9 7-7-5-5 | 44.2 1 (4_03 wBg ¢ )
R:TU—RTUAN— B:FFasFAY = WA
— ' — 4 2 | HIHE®R 1:37.3 9-9-7-6 | 44.3| -— 8 465 | EEEERE (1IE)
5810/ X~ 55.0 @ (3 |BOEE
RPRESTIN B:b—0—Ya2TU— & &5—
n ~ sy AR : -1-3- - {EiERe (11IE)
ol 3| 7VTFYIIRY 2 ET Gu | TR s ’ 33)7 B BtIr—Lk
R:TN/UFv—R BFP—ARSRS— et FIU—hT7—L4
» < [EETEIN : -10-10- - WiEEx (&
71111 |E=F7FUrER i 2 i (12317/2% 10-10-10-9 | 4.3 10 (4_061) EP}M( &)
R:E—=F/NbO—IL B:NEITILY—V pelaie]
=5 EE) : -5-6- - = 9= UNT:)]
0 4| IATILA—K B2 oA 1.(3(3.1 4-5-6-7 | 46.5 4 zg;) E}IE% )
RibH—O B:FSYRIVIIIL B 77—LA
S < BHRE :40. -8-9- . - S]AERZ (11IE)
9|5|5 | N7VILI¥— "2 5.0 1?3%7 698 w4 ? (4559) HEAE
RixO B:YM/Ia2TIL TARXRYI v R4t
=Py # 2 | AHERR 1:41.4 6-6-8-9 |48.4| — 3 439 | LRt (111E)
op] 2| T=7v7 54.1 G () | BRAL
RiNT B /T IN-AA gilll Al
@ 11— —BERIEI
13—7F— 3,6,8,(4,7),2,9,5,10,1
20— — 3,6,(7,8),4,2,9,5,10,1
BEIES /S (6.,8),3,7,9,4,10,2,5,1
40—F— 8,6,(3,7),9,10,4,5,(1,2)
0 ILRE
BB 8 520 JA R 7-8 580 & 7-7 1,4104 3ER 6-7-8 4,790
B B 8 220 6-8 1,070/ B 7-7 1,220 3Es 8-7-6 25,030MH
7 280H 6-7 780M 5 & 7-8 1,420
6 400 Ba 8-7 2,310H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




